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QUESTION 1

What is the functionality of redundant interfaces (reth) in a chassis cluster? 

A. reth interfaces are used only for VRRP. 

B. reth interfaces are the same as physical interfaces. 

C. reth interfaces are pseudo-interfaces that are considered the parent interface for two physical interfaces. 

D. Each cluster member has a reth interface that can be used to share session state information with the other cluster
members. 

Correct Answer: C 

 

QUESTION 2

Which two statements are correct regarding reth interfaces? (Choose two.) 

A. Child interfaces must be in the same slot on both nodes 

B. Child interfaces do not need to be in the same slot on both nodes. 

C. Child interfaces must be the same Ethernet interface type. 

D. Child interfaces can be a mixture of Ethernet interface types. 

Correct Answer: BC 

 

QUESTION 3

Which zone type can be specified in a policy? 

A. security 

B. functional 

C. user 

D. system 

Correct Answer: A 

 

QUESTION 4

Which three advanced permit actions within security policies are valid? (Choose three.) 

A. Mark permitted traffic for firewall user authentication. 
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B. Mark permitted traffic for SCREEN options. 

C. Associate permitted traffic with an IPsec tunnel. 

D. Associate permitted traffic with a NAT rule. 

E. Mark permitted traffic for IDP processing. 

Correct Answer: ACE 

 

QUESTION 5

Which three statements describe a redundancy group (RG) on an SRX Series device? (Choose three.) 

A. An RG is an abstract construct that includes and manages a collection of objects. 

B. When an RG fails over, the backup node reboots. 

C. Each RG is independent of other RGs. 

D. An RG can contain objects on both nodes of a cluster. 

E. RGs are assigned values that range from 0 to 720. 

Correct Answer: ACD 
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